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SN SRR D
A SEMPHANML (SEHSLM/5Y - 58)
Chel: HRASHY (che:m e
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t
Ozousa 29 12,213
—Jlg= 41,6803 x1ZE 200 8,336
—FFY 41,680 x 1P 45 1,876
— X 41,680 x1H »12& 501
—AUHEE = 10,713,000 *14% 1,500
405 Xt &HF S| 6,000 6,000 0
01 XA E S H SHI 6,000 6,000 0
OfId & WL 2L 600,000 x5 *23| 6,000
U= 14,900 14,900 0
201 L Er2F | 9,900 9,900 0
01 At 22|l 9,900 9,900 0
Ozl WE ZAFSS(3AI2H) 150, 000 & *66 3] 9,900
206 M = 4| 5,000 5,000 0
01 i =2 8l 5,000 5,000 0
OZ2UReus Mz2g 100, 000& *503] 5,000
HdEHAN2 54 8,500 8,300 200
201 L Er2F I 3,700 3,700 0
01 At 22l dl 1,500 1,500 0
Oous ZA=Z 150,000& *103 1,500
03 #Ar2ZHl 2,200 2,200 0
OILSA A £ AAZ K 2,200,000& *13] 2,200
206 M = 4l 1,000 1,000 0
01 M =4l 1,000 1,000 0
OSHN20I8 Qs e Ms 100,000& *103l 1,000
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SN SRR D
Y SASIRER(SENLSL/EY - SE)
CHel sAM2IHE R
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
NESEHS Jl=HY Ard 160,000 80,000 80,000
= 80,000
= 80,000
402 QIZ2tX20| ™ 160,000 80,000 80,000
& 80,000
= 80,000
01 22EEX 160,000 80,000 80,000
O&HIEZAY 160,000
—Xlclah feldol ZEM HY ALES U3 At 80,000,000& 80,000
= 40,000
= 40,000
—dSst tBAE SUSALS 80,000,000& 80,000
& 40,000
= 40,000
SMHESEISHEH 29 13,713 21,236 ANT,523
101 @1 24| 12,213 11,836 377
04 JIZtMZ22 s+ 12,213 11,836 377
O=sMEaZ8IIsdH 29 12,213
—J2= 41,6803 x 1200 8,336
- =5 41,680 x 18«45 1,876
RPN Ry 41,6803 x 1 +12 501
—AUEE = 10,713,000& *14% 1,500
206 M =4l 1,500 1,500 0
01 M= 4l 1,500 1,500 0
ONSESsE ANMHNSHEL e 500,000& 35 1,500
sAE BEAZS EES NIAY 25,000 10,000 15,000
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2AM:
X XH -
L= B

el

RN

(=3~ —
sHEIISEE(sglgd/se - 55
SHSIHS

SA B SA(BH) - MEAY - BES

=z
12

afE
0l &t

H

10,000
15,000

H

25,000

10,000
15,000

10,000

15,000

01 21 2tx=

10,000,000 *1JH 4 x50%

10,000, 000 *17H 2= *50%

10,000, 000 & *1JH 2 x50%

10,000,000 *17H 2= x50%

10,000,000 *1JH 4 x50%

M H Mo H

H

25,000
25,000

5,000
2,000
3,000
5,000
2,000
3,000
5,000
2,000
3,000
5,000
2,000
3,000
5,000
2,000
3,000

10,000

15,000

M

495,900

198,400
297,500

205,000

290,900

P!

(il

402 2I2tXt=0

M

495,900

198,400
297,500

205,000

290,900

<
e
e
b=
I
HL
FA

495,900

205,000

290,900
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2AM:
X XH -
L= B

el

W D
S
0B 0B &

O OF Of
Iz xR

i
0
o
o
%
02
1
iz
o
1%

CEB . S(EH) - HRAY - BAS

0l & 2

(Bl ]

afE
0l &t

300,000, 000& *19H 4 x50%

85,800,000 »17H 2= x50%

272,000, 0003 *1JH 2 x50%

34,000,000 *17H 2= x50%

300,000, 000& *19H 2 *50%

M H H M H

H

495,900

150,000
60,000
90,000
42,900
17,200
25,700

136,000
54,400
81,600
17,000

6,800
10,200
150,000

60,000
90,000

Mo

26,500

10,600
15,900

40,000

A 13,500

!

Mo

26,500

10,600
15,900

40,000

A 13,500

53,000,000 *17H 2= x50%

M

26,500
26,500
26,500

10,600
15,900

40,000

13,500

W

25,000
12,500

200,000

A 175,000
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AN S
i SHSIIBEE (s d/sd - s&
&??: s¢SIt3 (el =@
= = & E
SN BE-CRI(BH) - NREAMY - BAS 0l &k 24 e HlDZ 2
s 12,500
101 @1 24| 11,834 11,834 0
= 5,917
= 5,917
04 JIZtMZ22HsE 11,834 11,834 0
O3tz AMd 11,834
—SAMIR0E ZEHE B 11,834,000& 1 11,834
= 5,917
= 5,917
201 ZEt2d | 8,000 15,000 A7,000
= 4,000
= 4,000
01 At 22l 8,000 15,000 AT7,000
O3z AMd 8,000
—SAHENR0E ZEME U= 2,000,000& *43| 8,000
= 4,000
= 4,000
202 O Bl 2,000 3,000 A 1,000
= 1,000
= 1,000
01 =™ HI 2,000 3,000 A 1,000
O3tz AMd 2,000
—SAMIIR0E ZEME WSHH 2,000,000 2,000
= 1,000
= 1,000
206 M= 4l 3,166 10, 166 A7,000
= 1,583
= 1,583
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AN s

t
H: SENCAYLSH(SEHSL4/5 - 5&)
ool sEXNTIIeEY (el =@
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
O&JItEE T =2 230,000& =123 2,760
206 M =4l 10,000 0 10,000
01 M= 4l 10,000 0 10,000
OFsAELHE MY 100,000& 1005 10,000
s J=XE 22,000 18,000 4,000
= 11,000
= 11,000
101 I24H] 12,546 11,703 843
= 6,273
= 6,273
04 JIZtH 22 a2+ 12,546 11,703 843
OZLBEZAL(ELAZHARYEX) 12,546
== 41,6803 x 18 2002 8,336
= 4,168
= 4,168
— =54 41,6803 x 1«52 2,168
= 1,084
= 1,084
— X 41,6803 x 1 12 501
=2 250
= 251
—4EH 11,005, 000& *14% 1,541
= 771
= 770
206 M =4l 9,454 6,297 3,157
= 4,727
= 4,727
01 =4l 9,454 6,297 3,157
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SN SRR D
BH: SEXNCALYS (SHHSL /5 - 55)
ool sEXNTIIeEY (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
O=HIEZ AL 9,454
—EZHEY MY 94,5403 «1005 9,454
=2 4,727
= 4,727
HolSSE I =X 14,800 14,800 0
= 7,400
= 7,400
206 M =l 14,800 14,800 0
= 7,400
= 7,400
01 =4l 14,800 14,800 0
O=HIEZ AL 14,800
— s A 2G(FFAY S 2008) 14,800, 0002 * 14 2 14,800
= 7,400
= 7,400
ASANYEEIRSA 161,577 166,173 A4,596
ABANYE ¥ SE4EY 29 94,258 100,759 6,501
101 124 4] 30,657 32,158 21,501
4 JI12ZtH 22 HsEs 30,657 32,158 A 1,501
OASAHEE dpratg] 16,315
—Jl2= 41,6803 x 1 250 10,420
- =54 41,6803 x 1«52 2,168
— X 41,6803 x1H 15 626
—AlEE = 13,214,000 *14% 1,850
—&23 1,250,400& »1H 1,251
O=3 Ml 24 % st 2t 11,216
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SN SURED
BH: sENCALYS (SYHY /5 - 55
=E Yo T
SN Y. S(S) - NEAY - BES Ol &+ o8 e 2t
—JI2= 41,6803 1 188 7,836
— =54 41,6803 x 1 +39 1,626
— X 41,6803 1 9 376
—AEE = 9,838,000 *14% 1,378
OLX & oA ZASMH e =2 41,680 x3H 25 3,126
201 L Er2 I 19,701 19,701 0
01 At 22l 3,000 3,000 0
OASAYEE ZTAF2 ZHHl Xt 375,000 »8 3,000
02 2523l 16,701 16,701 0
OASANEE 24 £ I S 150,000& »10= *23l 3,000
OASANEE 2AXE HAZH 1,700 x2,7654 4,701
OAMSANYE sI|H | 2,000 %3004 600
OASANEE I3 500,000& x12& 6,000
OASANEE ot 200,000& «12& 2,400
206 M = 4l 1,000 1,000 0
01 =4l 1,000 1,000 0
OASANEE sIH B3 7 20,000& *50F 1,000
207 A SO 2l 34,000 39,000 25,000
03 A& & 71dl 34,000 39,000 A5,000
O&SAYEE gH #¢ 4,000& «5001% 2,000
O SANEE ZEHE 60, 000& *50H 3,000
O=ZMties 2y =z 2 50,000& x10& *63] 3,000
O==Zizd AZ4E 2 10,000& »2& *300% 6,000
O=Zd M4 JIEtRM 2L (HY, BEE, Ro2 S 50,0002 x10& *103] 5,000
O&ASANEE X £ 32 7Y 5,000& *2,000=F 10,000
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SN SRR D
A

M sENZ AL (sl /52 - 5F)
el ASANEERS (el &)
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HlDZ 2
OASAYE 2NN (25, BHEL, RoB 5) 20,000 305 *53| 3,000
OHIJtgsots A HlEg £ N 1,000,000& 2= 2,000
401 AIEHIZ 28I 8,900 8,900 0
01 Al & HI 8,900 8,900 0
O SANEE oA 2 AIEdE B 8,900,000& =14 8,900
Z2 2EHE 2 67,319 65,414 1,905
101 @1 24| 27,319 25,414 1,905
04 JIZtHZ22HsSE+ 27,319 25,414 1,905
OZ 257 Yotae] 16,315
—J2= 41,6803 x 1 +250 10,420
- =5 41,680 x 18 52 2,168
PN Ry 41,6803 x 18«15 626
—40EE= 13,214,000& *14% 1,850
— &&= 1,250,400& »1H 1,251
OZLYRY 2 AA(MSB, Jtal, M= 8) 41,6803 x 118 *24 11,004
206 M =4l 40,000 40,000 0
01 M =4l 40,000 40,000 0
OZLLRY 22| MMFL(BX, =4, &4E S) 200,000 x20& * 103l 40,000
SAIAFEM (sSHL bt/ s - &) 753,078 1,645,147 A 892,069
= 20,200
3 152,160
= 580,718
SIIAHX 657,309 1,560,876 A 903,567
& 152,160
i 505, 149
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A
X ZH -
=1

el

=PI
SAINHSET (sHH L4

= =]

sIIAHXE

t s

(i}

g._‘.—_i)

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
SIAH K3 A 130,000 45,500 84,500
402 QIZ2tX20| ™ 130,000 45,500 84,500
01 22Eex 130,000 45,500 84,500
O=JIAH XM X &AL 130,000
—s&EHID] 1,900, 000& *90CH *50% 85,500
— EdH HZI| 22| 1,500,000 *54CH *50% 40,500
— SR 1,600, 000 *5CH *50% 4,000
SIIAH T8l XA 354,700 148,348 206,352
& 152,160
i 202,540
202 o Hl 7,200 3,400 3,800
= 2,160
= 5,040
04 =M atOd 8l 7,200 0 7,200
OEHIEXZ AL 7,200
—d&=HIAHE 8F HXoHY 7,200,000 7,200
& 2,160
= 5,040
402 212HXHE201 A 347,500 144,948 202,552
& 150,000
= 197,500
01 QIEXtE2 8 & 347,500 144,948 202,552
OEHIEXZ AL 347,500
—=JIH XEAL(45) 475,000,000& *50% 237,500
& 95,000
= 142,500
—HsJIAH =8F £XAY 220,000, 000& *1JH 2 *50% 110,000
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fA:

=PI

o s HASN(SEHYSN/5Y - SE)
& SIAXA (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

= 55,000
= 55,000

SIHS UM A2E 172,609 167,028 5,581

101 I244] 24,369 54,458 230,089

04 JI2HHZ22 RS E> 24,369 54,458 A 30,089
OsJIHdUAIg A2 24,369
—JlE= 53,0003 x1& #250! 13,250
— =54 53,0003 1 52 2,756
— =g 53,000 x1H » 15 795
—sdg 79,5003 x 1 %40 3,180
—40EE= 19,981,000 *14% 2,798
—&&Z 53,0003 *30 1,590

201 L Er2 3| 98,240 112,570 A 14,330

01 At 22l 30,740 35,420 A 4,680
OUHAIE X AIE2IZ 270,000 304 12 9,720
OYUHAISE & ROTHHIAIAE 500, 0003 *37 A« 12& 18,000
OZUAY 233 =¥ 70,0002 13 %23 1,820
OSUALSE ESHOIX A=t 100,000& = 12& 1,200

02 8523l 67,500 77,150 A9,650
OCYgti=sJIH B2 90,000& =130CH 11,700
Osti=2gg=z 3,000,000 *301 2 9,000
OYU=sIIAH A=l 2,000& *3,000¢ 6,000
OU=sIAH =22E, 223, 372+ 200,000 =150CH 30,000
OLUAIE A &IIRZB 300,000 *30 A« 12& 10,800

405 X+otE S| 50,000 0 50,000
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fA:

=PI

B S NS (SYHSL /S -
chel: = 0| H X (e ®e)
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2

01 AR ESFHSHI 50,000 0 50,000
OZU=sIAH 7 50,000, 000& *13] 50,000

sIAHu=EE" 95,769 84,271 11,498
= 20,200
= 75,569

SJIH =2cltt 2¢ 52,669 42,571 10,098

101 @1 24d| 24,369 14,771 9,598

04 JIZtHZ22HsEs 24,369 14,771 9,598
OsJlH=sl+2e 28X 24,369
—J2= 53,0003 x 1 250 13,250
-5 53,000 1 »52 2,756
— =g 53,000 x1H +15 795
—5dg 79,500 x 1 x40 3,180
—4EEE 19,981,000& *14% 2,798
-8 &3 53,000 30 1,590

201 L Et2dH| 1,000 500 500

02 =524l 1,000 500 500
OsJIH &al+=cl&Hl H2Hl 2,000& *500¢ 1,000

202 044l 4,800 4,800 0

01 S LHO HI 4,800 4,800 0
OsJIAH &3l==cl 20,000 x2H 120 4,800

206 M =4l 22,500 22,500 0

01 M &4l 22,500 22,500 0
O=JIH &3l=el8 23, 285 50,000& *4503 22,500
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A “O*XPz ot

i sIASEA (s /s - &)

&l k'=3|74|I’|_ =¢ (el &)
=] NI . Ol (5 S ALOA N2 o ._‘.-jE =

SIOH W= X& 2,700 2,700 0

201 LBt | 1,000 1,000 0

01 At 22t 1,000 1,000 0
Os&2s, usEuM, % s W 5,000& «200% 1,000

206 M Z 4l 1,000 1,000 0

01 M =4l 1,000 1,000 0
Ou=s=ddH 88 € 37 7 100, 000& =104 1,000

301 LEtB A Z 700 700 0

09 HAIAMHIZE &S 700 700 0
Osgel sJ1H s 7,000 =100 700

SIOH 28 Mg 40,400 39,000 1,400
= 20,200
= 20,200

201 LBt | 2,000 1,000 1,000
= 1,000
= 1,000

01 At 22l Hl 2,000 1,000 1,000
O3t AMd 2,000
— 08Izl = 2,000
csJHLNsEEE UM A 5,000& 200 23| 2,000
= 1,000
= 1,000

206 =4l 2,400 1,000 1,400
= 1,200
= 1,200

01 =4l 2,400 1,000 1,400
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SN SY T D
o =e|s

i

ool =JHDSEY
% = PSRE]
S B SHA(SH) - MRAY - BES O 4+ 04 e
O=HIEXT ALY 2,400
—SIHLNEEHA A2 2 =272Y 2,400,000& 2,400
= 1,200
= 1,200
405 X+H&HE S HI 36,000 36,000
= 18,000
= 18,000
01 IHaLESFHSHI 36,000 36,000
O=1NE T A 36,000
—SIHLEEU X 36,000
SSE MO #¢ 30,000,000 =1CH 30,000
= 15,000
= 15,000
B I (REEHAHYIILE) 2 3,000,000 =2CH 6,000
= 3,000
= 3,000
HE2HZU (LX) (IIEH/DIE 110,783 110,783
Jl 23l 110,783 110,783
Jl 23l 110,783 110,783
201 2 er2 F | 61,983 61,983
01 At 22l 41,920 41,920
OFANSH 1,831,000& «20& 36,620
OS2I (S20A8l) 7,000 x20F 25 3,500
O& XK= AL 150,000 x1CH =128 1,800
02 8523l 20,063 20,063
OZMNEE2L S (X ) 30,000& 40l «23] 240




FA SN
M HAH2AZH (s S XS D) (IIEHIIE)
Ehelr D122l (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
oxg=Egz 600,000 *4CH 2,400
OXt= XAl 423
— &8 300,000 *1CH 300
— 32 41,0003 3CH 123
OX &R X 2eltl 17,000
— 58 (8%, 25,000km Of &) 5,000,000 = 1CH 5,000
—32(d%, 1€ 0I5, 25,000km Ol &) 4,000,000 =3CH 12,000
202 O Bl 43,800 43,800 0
01 =W HI 43,800 43,800 0
o&Uotl 120,000 x20H x 12& 28,800
O&2 0yl 75,0002 x20E 10 15,000
203 g =&l 5,000 5,000 0
02 H3Jotatd 2 =&l 800 800 0
OFRItatg =& 40,000& 20 800
04 RHA2ILRFTH 4,200 4,200 0
ORN2EIR2FHI 350,000& 128 4,200
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